2F4(2)'.2 (mod 5)
blocks | defect matrix blocks | defect matrix
G 1 2 20 x 16 6 0 6501 = X14,0, ¥17,0
2 0 3001 = Xx7.0, ¥9,0 7 0 6502 = Xx14,1,©17,1
3=2 0 3002 = x7,1, 9,1 3 0 6751 = X15,0, ©18,0
4 0 3251 = X8,0, ¥10,0 9 0 6752 = X15,1, 18,1
5 0 3252 = X8,1, P10,1 10 0 26001 = X184, P19+
Block 1: | 010 @11 Y2+ ©40 P41 P50 ©51 96,0 P61 LT+ P11,0 PiL1
11 =x1,0 1
lo=x1.1 .
521 = X2+ 1 .
271 = X470 1 .
272 = X471 1 .
273 = X570 1 .
274 = X5,1 1 .
781 = X6,0 1 .
782 = Xe,1 . . . . 1 .
3511 = X970 1 1 . 1 . 1 . 1
3512 = X9,1 1 1 1 1 .
3513 = X10,0 1 .
3514 = X10,1 1
3515 = x11,0
3516 = X11,1 . . . .
12481 = X12+ 1 1 1 1 1 1
14041 = X16+ . . 1 .
17281 = X20,0 1 1 . . 1 1 .
17285 = x20,1 1 1 1 . . . 1
40961 = x21+ 1 1 1 1 1 1 1 1 1




(Block 1:)

P13+ P15+

11 =x1,0

Ia =x11

521 = X2+
271 = X4,0
273 = X4,1
273 = X5,0
274 = X5.1
781 = X6,0
782 = Xe,1
3511 = x9,0
3512 = x9,1
3513 = X10,0
3514 = X10,1
3515 = x11,0
3516 = x11,1
12481 = X12+
14041 = X16+
17281 = x20,0
17285 = x20,1

40961 = x21+

©1,0
©1,1
P2+
©4,0
4,1
©5,0
©5,1
©6,0
¥6,1
Pr+
$11,0
©11,1
¥12,0
12,1
P13+
P15+



